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1.
A child-support assurance program that guarantees support payments to a mother regardless of her income but which doesn't increase the amount she will receive when not working will tend to ________labor force participation rates while ________ desired hours of work among those with jobs.

A) increase; reducing

B) increase; increasing

C) reduce; reducing

D) reduce; increasing
Ans: A

2. In a life-cycle model, expected wage changes cause ________, while unexpected wage changes cause ________.

A) income and substitution effects; income and substitution effects

B) only substitution effects; income and substitution effects

C) income and substitution effects; only substitution effects

D) only substitution effects; only substitution effects
Ans: B

